STXR
V=17 A7 %

B & =
BEa—F K34937
it X TMS11020W
st TMS11020W-04
fMEa—F K34939
it L TMS13020W
Haptisfist TMS13020-04

IND—lF—F TARAYF AL
HHa—F K34355

it il APG13000

* BmMTEN DRI, W Ehmitia RN e I EFZELY,
- A mO—ERICIE, FEoH Y MRTDAHDERRAHIET,

= tIHI 7?7 O UST v o






D T3EXIZDNT

HEBRmOMIGERICDONT

GE, FRUHEBEZ ZERE < 7ZE 0,

—

SISICICIcE
S

[y

20 B

ﬁ

S

5=

R

jix3

o Zo Eo

PR

!
)

B O3

XEREREEXIHRRRBE LT, RRICREA
DAR—LTL—FIRRTLTLWET,

2. o =], [ ]iE UFozea®kLT
BOES,

(=] v nl, MABAENTO S WD
B 2 12 0 F72 20

(] 7 v s 5 6 T
TS L7 i

3. RHEEN[ | iceoCnd b olt, il
i EEVD, IR R DD ETOT, ZOH
BE SRR SO & E T,

4. MO —EIZIE, & -y MERTBOHR
DR B T3, THLOBILI TR ZE
W, FERE BRSO 0ERL TR >
MRFED DX E SE W2 & FT,

KEBITWRFICLY FERSBIR - MEEZLE
TLHLZEBRHYET,

FEER A S A IERT A 2 B E O SRO S TEE W,
ML BT D £9 & MO
PEREISZ BT 2580 H 0 £,

Z DR OAE AR SR OAAGEERR GFI) 13, B
EFHUVR%9FETY, ZEL, fIGFERNTH-
Th., FERESIZ OW TR & & THR S E T
W GabH Y £,

FEET S DU IR RIBIZ 1T ERE O AR EEIR THE
TLETA, BHEFEREIER TH->Th, Mt
#5 D ZHFED B o TG BT K UMk 2o
TIMHRESETWEEEET,

REEIZDULNT

PR DO UGBTI DFR & 720 £4 DT, 1T
TLES W,

godE L7e G B Pl B SR~ S 72 IE LUTE
MBI E B2 D581E, BRIEOIRIN 2D £4 D
TITEELSIZSN,



TMS11020W-13020W <=2 F7ARAJTLv4

Ko—/\-R422 K

e I R s B i 4 i A% T =
1 | 1631261004 Ko —/RC P 1
2 | 1630380000 tyFHLAs sy H 1 | F3~5, 37~39f}
3 | 155618000M FL—hk 1
4 | WS36 NEPFHFX 237 M36 1
5 | NZA36 Fvh 8 132 M36 1
6 | Bz14040 ALk 8.8 M14X40 4
7 |NZ14 JFvhk 8 2v= M14 4
8 | WSAl4 NEXPFHX 337 M1 4 4
9 | BJ16045 $I7F¥y vy 7B 10. 9 M16X45 4
10 | BZ12030 ALk 8.8 M12X30 8
11 |NZ12 Fvhk 8 2v=2 M12 8
12 | WSA12 NAYPHx 337 M1 2 8
13 | 087024100M R—=APR—KCP 1
14 | BSZ10030 afFAZRLE 7 M10X30 2
15 | WSA10 NEYPHF 337 M1O 2
16 | NSZ10 afXZFvyhk 8 2¥=2 M1O0 2
17 | 145932100M g IN— 1
18 | 145933000M =V 1
19 | WRAOS v 7 HEx M8 3
20 | PC032016 JUEY 3. 2X16 2
21 | 1626820000 =¥ ;50As syl 1 | /19, 22, 23fF
22 | 079659100M WAPAE S 4
23 | PS040016 27T 4X16 1
24 | 1458860004 AR RCP 1
25 | 147858000M =% 1




TMS11020W-13020W <=2 F7ARAJTLv4
FR—/\-RA 2R

46 | 162782000M Vo7 Fxz—2;13X80PX25L
47 11627830000 vy w7, TS-2. 5t

RES| 5B s & 5 il i 4 PR &%k fii =
26 | 000738000M JoFEY ;6 1
31 | 082937100M JaAf L NAZ L RCP 1
33 | WRALO eI Hr M10 1
34 | NNF10 75V FAfuarF vk M1O 1
35 |NZ16 Fvk 8 232 MI16 4
36 | WSA16 NREYPHR 337 M1 6 4
37 | PS080050W ATV TEy FTdy 8X50 1
38 | PS050050W ATV T FT7ay 5X50 1
39 | 1530830000 | A~NUHF: 62X160 1
40 | 1560090004 EyFCP 1
41 | 1438100000 PAhi1l. 02 1
42 | BZ20180 ALK 8.8 M20X180 3
43 | WSA20 NEYPHF 337 M20 3
44 | NZ20 Fvk 8 2v=2 M20 3
45 | ONBS1 JV—2A=v7) B PT1,/8 1

1
2




TMS1020W <Y=—aF7RIL YA
TN

11
12

EITAMR 23
A& 5o 5 B i 4 i % T
1 | 1541421004 ¥/ CP 1
2 |1341631004 |ANTVYFT YT I/CP;1160L 1
3 | 1341641004 | ANTVYHFT¥TYZ/CP; 1160R 1
4 10730921000 A KL 4
5 | 0754683004 L CP 2
6 | 066208100M Jyiy; 51X3. 2 6
7 | 128113000M Tyiy; 21X65 2
8 | Bz20045 ALk 8.8 M20X45 2
9 | WsA20 NEXYPHx 3937 M20 2
10 | ONAS1 JV)—ZA=v7NV A PT1,/8 2
11 | BJ16055 $I7F¥y v 7B 10. 9 M16X55 4
12 |NZ16 JFvh 8 2¥2 M16 8
13 | WSA16 NEYPHR 337 M1 6 8
14 | BZ16045 ALk 8. 8 M16X45 4
15 | 1457531006 AAXLUF 27 1
16 | 1455410024 |7 4
17 | J32215 T—a—I_X7Jrr 32215 4
18 | J32211 T—u—I_X7 U s 32211 4
19 | YX324F005 Vrq4=v700 7 4
20 | 145541006M VA7 A7 A BN 4
21 | 1455410070 A7)y hEYV 4
22 1455410084 | T Xy v S 4
23 | YX309F010 NTHRILE  M20X 1. 5X62 32
24 | YX312F023 AA—F vk ; M20X1. 5 32
25 | 1436200000 ¥4¥;16. 0/70—20 12PR 4

-3-




TMS1020W <Y=—aF7RIL YA
TN

11
12

HEITHM 23 21
AMEE| & o /B il i 4 R 8% fir e

26 | 1629550000 F=2—7:16. 0/70—20 4

27 | 1482690000 RA—L:14X20 4

29 | YX329F083 RA—=NTvx ;M2 0 32

30 | GNBOSF JY)—2=v7FL B M8X1. 25 4

31 | 1497271000 AAX7;,16. 0/70—-20 12PR TL | 4 | H25~2TH 7k




TMS13020W Y=—aF7RIL YA
Ny BAY

A& 5 s & 5 B i 4 i A% T
1 | 1541431004 ¥/ CP ;13000 1
2 |1402222004 | ANTVYFT¥YTI/CP; 1360L 1
3 |1402232004 | ANTVYHFRIYTYIZ/CP; 1360R 1
4 | 1402240000 R34 7 CP 2
5 | ONAS1 JV)—ZA=v7NV A PT1,/8 2
6 | EWK869932 SFY¥5;4x1,/8 2
7 | EWK869935 LEYX7 1,8 2
8 | 1149482004 ' CP 2
9 | 1149510000 A KL 4
10 | 123701100M HT7—;85. 4X50 2
11 |BZ16130 ALk 8.8 M16X130 2
12 |NN16 FAurFvh M16 2
13 | BZ16045 ALk 8. 8 M16X45 4
14 | BJ16055 H$I7F¥y vy 7B 10. 9 M16X55 4
15 |NZ16 JFvh 8 2¥2 M16 8
16 | WSA16 NEXYPHx 337 MI16 8
17 | 1468210006 SUUHECSO25X85X290 2
18 | 136717000M TRV FE 2
19 | WRA20 EIHTR M2 0 4
20 | PC040040 JUYELY 4X40 2
21 | 136718000M TRV X 2
22 | PC032032 JJEY 3. 2X32 2
23 | 102551000M Ty PEF3,/8XPT1 /4 1
24 |1033-04-06 AR—Ax)LR PF1,/4XPT3,/8 2
25 | KHO401600AP | =7 YA —A 1,/4X1600 1—4 2

-5-




TMS13020W Y=aF7RXATLvy4H
DR 2/ AL B e o
AHES| B M F B B L 4 PR [EES fii =
26 |2091-04 74— PT1,/4 1
27 | 2086-04 )R PT1,/4 1
28 |2081-06-04 Ty PT3,/8XPT1,/4 1
29 | 1013-04-06 R—A=v 7L PF1,/4XPT3,/8 1
30 | CLF30F Hh7TZ7 AA PT3,/8 1
31 | CLF30M H75 A PT3,/8 1
32 | KHO408000AP | =7 YAR—A 1,/4X8000 1—4 1
33 | 134797000M H7Z ; VF38GAS F 1
34 | BZ06040 ALEF 8. 8 M6X40 2
35 | NP06 ATV TF v M6 2
36 | LN212 K—2r7507 LN2—12 13
37 | BZ06035 ALk 8. 8 M6X35 11
38 | BR06035 B F</B 4. 6 Al M6X35 2
39 | NNF06 75 0FAurFy h M6 13
40 | 1482801000 4%/ ;550/60-22. 5 12PR L TL | 2 | R42~44#137 5
41 | 1482811000 ZA4¥73;550/60-22. 5 12PR R TL | 2 | R42~44f:7
42 | 1436220000 4% ;550/60—22. 5 12PR 4
43 | 1626370000 ST 4
44 | 1482700000 KA—/N;16. 00X22. 5 4
45 | J32211 T—a—7 X7 Y7 32211 4
46 | J32215 T—a—F_X7 Y7 32215 4
47 | YX324F005 VFry=v 707 4
48 | YX328F014 79 Fy b 4
49 | YX344F054 AT T 4
50 | YX307F053 NT X xS 4
51 | YX309F022 AR ;M20X1. 5X76 16
52 | YX312F023 AA—nF v ;M20X1. 5 32
53 | YX316A025C Tr—F% v a— 2
54 | YX301FD83 NN 2
55 | YX320F026 T L—F LR— 2
56 | YX323128LX |7 T vk 2
57 | YX309F010 AR :M20X1. 5X62 16
58 | YX323128AXXI | "7 T vk 2
59 | YX342F008 TV =2y T 2
60 | YX342F012 TN —=2Y 7 2
61 | YX329F083 RA—NLT %y ;M2 0 32
62 | GNBOSF J)—A=v7F)L B MS8X1. 25 2
63 | YX323128T NT 2
64 | YX323128TI NT 2
66 | YX341F044 ==V T 2
71 | 1457531006 ALY LUF; 27 1
72 | 1526160000 777 v b 1
73 | ILT150 fvvanylH A 3. 5X152 1




TMS11020W-13020W <=2 F7ARAJTLv4

JL—L

A& 5 s & 5 B i 4 i A% T
1 | 1512850000 YRy LF 1
2 | 1512860000 VR RF 1
3 | 1512870000 V7R LRe 1
4 | 1512880000 V7R i RRe 1
5 | 1512771004 71 —ACP ;13000 1| AT
6 | 1536161003 A RYHR—KCP ; F 2
7 8034570003 YA KYKR—KCP ; RE 2
8 | Bz12025 ALk 8.8 M12X25 27
9 | RBT12025 R¥B 10. 9 M12X25 34
10 | RBT12030 RZB 10. 9 M12X30 18
11 |NZ12 Fvhk 8 2v=2 M12 64
12 | WSA12 NAYPHx 337 M1 2 84
13 | 152803000M A K F 2
14 | 134216000M HA K ; Re 2
15 | 1514670000 ahAHX ;4948 8
16 | TMB06035 PIXELFRY B—1 6X35 32
17 8031220003 HA RKCP ; R 1
18 | 8031240003 HA RKCP ; L 1
19 | 1460580003 A RKCP 2
20 | BJ08040 HI7F¥y v 7B 10. 9 M8X40 16
21 |NSZ08 affEZFyhk 8 2v=2 MS 8
22 | WSAO8 NEXFHX 33T MS 8
23 | NSPOS ABFEATY T Ty N 4 M8 8
24 | 1496980000 H3—; RE 1
25 | BZ12025 ALk 8.8 M12X25 6

-7-




TMS11020W-13020W <=2 F7ARAJTLv4

JL—A
AHES| B M F B il w4 PR [EES fii

26 | WSA12 NEXYPHx 337 M1 2 6

28 | 1514430000 |/X22%; 5408 2 | TMS11020W
29 | BZ12070 RLR 8.8 M12X70 14 | TMS11020W
30 |NZ12 Fvh 8 2v=2 M12 7 | TMS11020W
31 | WSA12 NEPFHFX 33a7 M1 2 14 | TMS11020W
32 | 042783600M Tyvy ;12 14 | TMS11020W
33 | 085137000M Ty, 13X3. 2 14 | TMS11020W
34 | 146564000M | F ¥ kL 7 | TMS11020W
36 | 1061641000 TV a1 1

37 | 1417390000 FL 3 A RS A4 TR 1

38 | 1417400000 YL AT AL 1

39 | 1417410000 FYL s AT A4 7R (STAR) 1

40 | 1417420000 F~YL s AT A4 7L (STAR) 1

41 | 1630950000 TV T g v 1

42 | 1459720000 FAYL o LT 1

51 |BZ12030 ALK 8.8 M12xX30 5

53 | NT1219040 Z2HFvh M12X19X40 7 | TMS11020W
54 | BZ12020 AR 8.8 M12x%X20 7 | TMS11020W
55 | WSA12 NEPFHFX 33a7 M1 2 7 | TMS11020W
56 | 1465391003 RLZCP 2

57 | 000453000M | F/LZEL ;9 1

58 | 042783600M Ty 12 4

59 | 1465720000 F~L: 11000 2 | TMS11020W
59 | 1477610000 F~L: 13000 2 | TMS13020W
60 | 1536540000 T 2 | TMS11020W
60 | 1530981000 T 2 | TMS13020W
61 |BZ12025 ALk 8.8 M12X25 4

62 | NZ12 Fvk 8 2v=2 M12 4

63 | WSAL2 NEXYPHx 397 M1 2 4




TMS13020W Y=—aF7RIL YA
RoaFx

A& 5 s & 5 & i 4 i A% fii
1 | 1512720000 YRRy ULF 1
2 | 1512890000 Y7 URF 1
3 | 1512900000 V7R ; ULRe 1
4 | 1512910000 V7R ; URRe 1
5 |BZ12030 ALk 8.8 M12X30 34
6 | 063467000M Tyiy ;12 5X3. 2 40
7 | 042783600M Tyiy ;12 14
8 | WSAL2 NEXPFHX 33d7 M1 2 41
9 [NZ12 Fvk 8 2v=2 M12 27
10 |NT1219040 ZHF vk M12X19X40 7
11 | BZ12020 RALR 8.8 M12X20 7
12| 1514350000 A KR —b ;U 4
13 | BZ12020 RALR 8.8 M12xX20 8
14 | BZ12030 RLR 8.8 M12xX30 8
15 | RBT12020 RZB 10. 9 M12X20 16
16 | 063467000M Ty 12, 5X3. 2 8
17 | WSA12 NEXYPHx 337 M1 2 32
18 [NZ12 Fvh 8 2va2 M12 32
19 | 1514370000 77 ;L 1
20 | 1514360000 777 vk R 1
21 | BZ12020 ALk 8.8 M12X20 2
22 | RBT12020 AZB 10. 9 M12xX20 4
23 | WSA12 NEXFHX 33a7 M1 2 6
24 |NZ12 Fvhk 8 2v=2 M12 6
25 | 1514430000 |32 2%: 5408 2

-9-




TMS13020W Y=—aF7RIL YA
RoaFx

TR

A& 5 o5 5 B i A i A% T =
26 | BZ12070 ALk 8.8 M12X70 14
27 | 042783600M Tyvy ;12 14
28 | 085137000M Ty 13X3. 2 14
29 | WSAL2 NEPFHFX 337 M1 2 14
30 |NZ12 Fvh 8 2va2 M12 14
31 |BZ12020 ALk 8.8 M12X20 2
32 | WSAl2 NEXPFHX 33a7 M1 2 2
33 |NZ12 Fvk 8 2v=2 M12 2
34 | 146564000M F v I 7

-10 -




TMS11020W-13020W <=2 F7ARAJTLv4

AV FIL—L4

AHES| H O’ B il i A PR % T
1 |1460921003 7oy 7L —ALCP ; L 1
2 | 1460951003 7y 7L —ALCP : R 1
3 | BZ14030 ALk 8.8 M14X30 6
4 |NZ14 Fvhk 8 2v2 M14 6
5 | WSAl4 NEPFHx 337 M1 4 6
6 | WRAl4 IR M1 4 6
7 | BZ12025 ALk 8.8 M12X25 12
8 | RBT12025 ARZB 10. 9 M12x25 2
9 |NZ12 JFvk 8 2v=2 MI12 14
10 | WSA12 NREYPHFx 337 M1 2 14
11 | 1461031000 7y hAR—K 1
12 | 1461041003 25—CP; Lo 1
13 | 1461061003 25—CP ;U 1
14 | BZ12030 ALk 8.8 M12X30 4
15 |NZ12 Fvk 8 2v=2 M12 4
16 | WSA12 NEXYPHx 337 M1 2 4
17 | 1461100000 TILTL—k 1
18 | CP08025 +FRaxy M8X25 6
19 | NSPO8 AFEATY T Ty N 4 MS 6
21 | 1181340000 JaAXyh; ¢42 1
22 | BZ12035 ALk 8.8 M12X35 6
23 | NZ12 JFvk 8 2v=2 M12 2
24 | WSA12 NEXPFHX 3d7 M1 2 6
25 | WRA12 IR M1 2 4

-11 -




TMS11020W-13020W <=2 F7ARAJTLv4
JAOV kL2 L—A

AHES| H N’ 5 H i A i % T =

26 | 042783600M Tyvy ;12 4

27 | NRR10K Fv hUTFT—F M10 4

28 | BSZ10020 afAZRLE 7 M10X20 4

29 | WSA10 NEPFHFX 3327 M1O0 4

30 | WRAL0 7R M10 4

31 | 1461090000 A= AN AT 1

32 | NRR10K Fv hUT—7F M10 4

33 | BSZ10020 aFHZRLE 7T M10X20 4

34 | WSA10 NEXHFHX 337 M10 4

35 | WRALO eI Hr M10 4

36 | 0899120000 T3 900~1000r pm 1

37 | 1182430000 FL PTOYZ v F 1

41 | 1156610000 Jraxvh; o444 2

51 | 1631370004 Zry k%% )LCP ;U 1

52 | 1631410004 TN L 1

53 | 1631420004 TV R 1

54 | BZ12030 ALk 8.8 M12X30 6

55 | NZ12 Fvhk 8 2v2 M12 6

56 | WSA12 NEPFHEX 337 M1 2 6

57 | 1579940000 TGV AATX I UXRT Y29 4 1 [ TMS11020W
57 | 1579830000 TYL G AT I UXRT V225 1 | TMS13020W
58 | 1585110000 FYL ; ARy I 1 | APG13000
59 | 1511830000 SR ALy 270 1

-12-




TMS11020W-13020W <=2 F7ARAJTLv4
JAOV kL2 L—A

AHES| H N’ 5 H mi 4 i) % T =
60 | 1623480000 FYL A YT 1
61 | 1631330004 A= A Vi
62 | 1631340004 TN L 1
63 | 1631350004 T R
64 | BSZ08016 afHZRVE 7T MS8X16 12
65 | NSP08 AFEATY TSy N 4 MS 12
66 | 163064000M A 2
67 | BSZ08025 aFHRLE 7T M8X25 6
68 | NSPOS afEXATYV Ty s 4 M8 6
69 | WRAOS 7R M8 6
70 | 163106000M Jyiv; 9X6 2
71 | 1607650000 TV s T YRR 1
72 | 1607660000 FYL s T a L 1

-13-




TMS11020W-13020W <=2 F7ARAJTLv4

J)x27L—A4A
e I R s B i 4 i A% T

1 | 163077000M Y¥YR—KCP ;UL 1
2 | 163079000M J¥YHR—FCP ; UR 1
3 | 0758150000 =N 2
4 |RBT12025 ARZB 10. 9 M12x25 18
5 |BZ12025 ALk 8.8 M12X25 16
6 |NZ12 JFvhk 8 2v=2 MI12 32
7 | WSA12 NEXPFHX 33a7 M1 2 34

-14 -




TMS11020W-13020W <=2 F7ARAJTLv4
NyFIES

B i
(TMS13020W)

>
18 HEITH M

A EtH
(TMS13020W)
A& 5 s & 5 B i 4 i A% T

1 | 1603681000 RKyovaro4r; 2PG 2

2 | CP03016 +JF_RaxyY M3X16 4

3 | WRAO3 v 7P HFR M3 4

4 |NNO3 FTAurFv Rk M3 4

5 | 163065000M 777 vk L1 1 | TMS11020W
5 | 163067000M 777y kL2 1 | TMS13020W
6 | 163066000M 777 vk R1 1 [ TMS11020W
6 | 163068000M 77 vk ; R2 1 | TMS13020W
7 | BSZ08020 afHRNVE T M8X20 4

8 | wsaos NEYPHx 337 MS 4

9 | 1627760000 VY77 2

10 | CP06030 +F_RaxY M6 X30 8

11 | NNF06 7504 arFy b M6 8

12 | 163146000M 77y N L 1

13 | 163147000M 777 vk R 1

14 | 1631550000 2—R;12000X5000 1

16 | ILT150 Aany XA 3. 2X152 31

18 | 1604031000 NN A 1

19 | 0009600000 N F  W—60CT (ST v FM5Ef) 2

20 | 1630370000 F 2T N—FRACP ; 27 Ry 1 | AT ar

-15-




TMS11020W-13020W <=2 F7ARAJTLv4
PICYY I h-toH—

ETAR

AHER| 3 F B H i 4 i &%k fii
1 | 0000963000 PICxyv7;35 1
2 10008230000 PICH N —; 1 1
3 | 1461770002 PICY¥¥ 7k 1
4 [163101000M | /%A 7 1
5 10599695004 PICYr vl 1
6 | JUC207D1 o=y haUXRFTYL S UC207D1 1
7 | ONB6 JYV—Z2=vy )L B M6 1
8 | JUCFL207DGB | X7 Vv Z/=2=v s UCFL207DGB 1
9 | BZ14045 AR 8.8 M14X45 4
10 |NZ14 Fvh 8 2v=2 M1l4 4
11 | WSAl4 NxYPHx 337 M1 4 4
12 | 1464920004 YaA b 1
13 | BSZ08020 aBFEZRLE 7T M8X20 2
14 |NSZ08 aff B Fyh 8 2¥=2 MS 2
15 | 1512710002 Y7 ;M 1
16 | 1464880000 PTOT7TX#7% ;21 IvdaAUD 1 | AFvav
17 | JASFB207DGB | X7 Vv Z/=2=v ASFB207DGB 2
18 | BSZ10035 afHZRNLE 7T M10X35 4
19 |NSZ10 afHZFyh 8 232 M1O 4
20 | WSA10 NxXYPHx 337 M1O0 4
21 | 044098500M Tyl ¥ 10 4
22 1514690000 |[/NU—Ya Ak ; LA—90 HA—Fv 1
23 | 1464740000 THETH 1
24 1530820000 |[/XU—V 542 h; OWALA—90 HNR—FL | 1 |[FFvav
25 | 1462231000 7Z b 1

-16 -




TMS11020W-13020W <=2 F7ARAJTLv4
PICYY I h-toH—

EITHE
AHET| 55 & 5 B w4 i) A% T
26 | BZ06020 AR 8.8 M6X20 2
27 | WS06 NRxYPHx 237 M6 2
28 | 091298000M Jvi¥ ;6 2
29 | 1436141000 XYV R VT 1
30 [ CP03016 +FRaxy M3X16 2
31 | NAO3 Fvh 4 232 M3 2
32 | Wso03 NEXFHX 237 M3 2
33 | WRAO3 7YV Rr M3 2
34 | ILT150 fryvany ¥ A 3. 5X152 4
35 | 0823541000 ¥avak—2A2 CP; 120 1
36 | EWK869935 LFYX¥7 1,8 1
37 | 1336940000 SFY¥J5:4X1,/4—28UNF 1
38 | ONAS1 J)—A=v 7L A PT1,/8 1
39 | WRAl4 AR M1 4 2
ASY | 1607920000 PICYZ7USASSY 1 | A5,7

-17 -




TMS11020W-13020W <=2 F7ARAJTLv4
AR T MNTEYFNYITILFT—V

AHER| W oM F B B mi 4 i) A% T
1 | 1461630000 YRy 7 A (XU ) 1
2 | BZ18060 ALk 8. 8 M18X60 2
3 |WSA18 NxYPHx 337 MI18 2
4 | 1461830002 a7y x 7k Re 1
5 | 1329430004 A7wvlry bk, 6T 4
6 |KFB14091500 |~A a3 y¥%— JHHZ~</L 14X9X150 1
7 | KFC12080600 |~A 2% — Uzgu</l 12X8X60 4
8 | TRK08012 6 FAFRY 10. 9 ZAKRI M8X12 8
10 | JUCFC210DGB | ~_7 U Z=2=v ~ UCFC210DGB 2
11 | BZ14050 ALk 8.8 M14X50 8
12 | WSAl4 NAYPHx 337 M14 8
13 | 146184000M HI—;50. 5Xx199. 4 2
14 | 133200000M Jyiy; 50. 5X2. 3 2
15 | 1329420004 A KL 1
16 | ONBS1 JY)—2A=v7V B PT1,/8 1
17 | 1330900000 A KL 1
18 | 066208100M Jyiy 3 51X3. 2 2
19 | 1193540000 A -
20 |BZ12035 ALF 8.8 M12X35 2
21 | WSAL2 NEPFHEX 337 M1 2 2
22 | PC063071 JU¥y 6. 3X71 1
23 | 1461850002 aLR_R7 7 b F 2
24 | 1329440004 A7alr b, 6T 4
25 | ONBS1 J)—A=v7NV B PT1,/8 4

-18 -




TMS11020W-13020W <=2 F7ARAJTLv4
AR T MNTEYFNYITILFT—V

AHER| W M’ B B mi 4 i) A% T
26 | 133092000M HF5—;35. TX55. 5 2
27 | 1460520003 T g v 4
28 | 1461620006 27T 9X34X108 4
29 | 146164000M AL ;M20X260 4
30 | 080456000M WAV 8
31 | PS100045 27Ty 10X45 4
32 | 132940000M THYF XTI NFz—2;10000 464
33 | 146220000M AL R_R7NR—CP ;600 50
41 | KMSO11 TraUuXy v 11 2
42 | 085189100M HT7—;35. 7TX18 2
43 | 0873081000 ;20 5X0. 27 -
44 | 0825712000 Fayak—A CP ;250 1
45 | EWK869935 LFEYX¥7 1./8 1
46 | 1336940000 SFY¥5;4X1,/4—28UNF 1
47 | ONCS1 J)—A=v7V C PT1,/8 1
48 | 164303100M Trvarysr—y; TMS 1 3
49 | EWK869932 SFY*¥7;1,/8 1

-19-




TMS11020W-13020W <=2 F7ARAJTLv4
E—4%

(& EER)

HEITHR
:

e R e s B H 4 i) A% T
1 | 1464454004 JA RE—Hz2=v k 1
2 | BZ14030 ALk 8. 8 M14X30 6
3 |NZ14 Fvhk 8 2v=2 M14 6
4 | wsA14 NEPFH%x 337 M1 4 6
5 | 1482840004 7 w7 L —ACP ; R 1
6 | 1482850004 7 w7 L —ACP ; L 1
7 | BZ12025 ALk 8.8 M12X25 4
8 |Nz12 Fvh 8 2v=2 M12 4
9 | WSAL2 NEXFHX 33d7 M1 2 8
10 | 1464770004 r—3 7 CP 1
11 |NZ12 Fvh 8 2v2 M12 2
12 | 1464790000 TAFL—h ;1 2
13 | 1464800000 TAFL—h; 2 1
14 | 146481000M Tr—F; 1 2
15 | 146482000M TL—F; 2 1
16 | BSZ08025 af ARV E 7T M8X25 12
17 | NSPO8 AFEATY T Fy N 4 M8 12
18 10009301000 NV F  R—150TR (ST FM5AF) 2
20 | 118196100M 77%7vh; 150TR 2
21 | BSZ08020 afHRLE 7T M8X20 4
22 | NSPOS AFEATY T Fy R 4 MS 4
23 0009620000 NV F Y —60CITS (STHy hM5AT) 2
31 | ZN12052 7Ty AT 28
32 | ZN14026 A =7 A7 R 7| AlElEE A

-20-




TMS11020W-13020W <=2 F7ARAJTLv4

E—

3

EITHR

A& 5 oA & 5 B i 4 i [Ek T

33 | ZN14027 F—=7rF A7 ; L 7 | ARl H
34 | BZ16150040 AR 8.8 M16X1. 50X40 84

35 |[NN16150 TA Ty b M16X1. 5 84

41 | BZ12030 ALk 8.8 M12X30 4

42 | 042783600M Tyivy ;12 4

43 | ZN14544 TA hE—H 1| .31, 32FF Az
44 | ZN14545 L7 hE—X 1 | R31, 33 ZE[nlds
45 | ZN7331 FANT—)L 45XT2X10 2

46 | ZN3340 _X7YU27 1307E 2

47 | ZN3462 oVy/r 176 2

48 | ZIN7724 HN—F L — |k 2

49 | 7ZN3435 CHZFMAT T7F 80 2

51 |7ZN19744 YRy 7 A 1

52 | 1630700004 AT —CP 1

53 | BZ12030 ALK 8.8 M12xX30 4

54 | WSA12 NEXYPHx 337 M1 2 4

55 | NZ12 Fvh 8 2va2 M12 4

56 | 1600840000 FYL s A a U vR 1

57 | 1601500000 FYL v ray )y R 1

58 | 1601510000 S~ ; 15km/h 1

59 | 1629850000 FYL s kXY A YUay 8800 1 [ TMS11020W
59 | 1629860000 T kXY AYary 10400 1 | TMS13020W
60 | 1604360000 FoYL ¥ 77 2. 60m 1 | TMS11020W
60 | 1607820000 FYL P77 2. 80m 1 | TMS13020W

-21 -




TMS11020W-13020W <=2 F7ARAJTLv4
YRy O R(E—4H)

A& 5o 5 B mi 4 i) % T
4 | ZN9476 ARLFXY ;13T 3
7 | ZN9502 ARULFXY ;20T 1
9 | ZN12310 ¥ 7 bk 1
10 | ZN9524 T — 2
11 | ZN9926 ovV»7 2175 2
13 | ZN9446 7TV 2
14 | ZN7480 FAN— 55,/85,/10 2
15 | J6309LLU R—=A_7Y 7 6309LLU 2
16 | ZN9507 Ty 7k 2
17 | ZN9516 AR —f 2
18 | ZN9477 ARLFY ;20T 2
19 | J30207 T—mun—7 X7 7 30207 2
20 | ZN9536 A 3
22 | ZN9525 A 6
24 | ZN9707 A 1
25 | ZN9179 Fayaty 1
26 | ZN9706 A 1
28 | ZN12629 T — 1
29 | J30208 T—mua—IX7 Y7 30208 1
30 | ZN9445 A7V 1
31 |J6208 R—=N_T7TY 7 6208 1
32 | ZN9509 Ty 7 b 1
33 | ZN9537 FANT—) 48,/80,10 1

-22-




TMS11020W-13020W <=2 F7ARAJTLv4
ary

24

A& 55 & 5 iy mi 4 i) A% T
1 | 1440761006 aF7YE—H ;MP160 1
2 | BZ12035 ALk 8.8 M12X35 2
3 | WSA12 NxXYPHx 337 M1 2 2
4 | 1409230000 F LR 1
5 | BSZ10025 afAZRLE 7 M10O0X25 2
6 | WRALO IR M10 2
7 | WSA10 NEXHFHX 337 M1O0 2
8 |1462220003 777 v bk 1
9 | BSZ10025 aBFHRLE 7T M10X25 2
10 | WSALO NEXYPHF 337 M1O0 2
11 | 1461650000 gy ha—Ry 7 ACP 1
12 | 1462240000 SN R A 1
13 | 1345440000 o—FR; 3500 1
14 |KHO806100DP | =7 Y&A—A 1,/2X6100 S901—4 | 2
15 | KHO804000AP |7 Yhk—=A 1,/2X4000 1—4 2
16 | 0007781000 N7T7xxv7 5 1,/2 2
17 | CLF40M h7Z FA PT1,/2 2
18 | 123700000M Za—Y H—2 LT 1,2 1
19 |2083-08 =7 PT1,/2 1
20 |1013-08 A—Z2=v 7L PF1/2XPT1,/2 1
21 |1035-08 AR—AxT)R45 PF1,/2XPT1,/2 1
22 |1033-08 AR—Ax)LR PF1,/2XPT1,/2 2
23 | 117267000M T PF1,/2XPT1,/2 2
24 | ILT200 Aauay I HZA 4., TX202 8
25 | 0749681000 ANRAL FGNF2—T 1500 5
26 | 1450170000 T aAa—R; DIN—=F /72y 1
27 | 123700000M Za—U R =T 1,/ 2 1 | AFvar
28 |2083-08 =7 PT1,/2 1 | AFvar

-23-




TMS11020W-13020W <=2 F7ARAJTLv4
Xy RA—F

e I R s B mi 4 i) A% T
1 | 163055000M 777 CP ; L2 1
2 | 163057000M 77 hCP ; R2 1
3 | 163059000M 7L —k 2
4 | 1630600000 H— K 2
5 | BSZ08020 afFARLE 7T M8X20 6
6 | NNFO8 75 VA4 urFy b M8 6
7 | 163061000M AT7—CP; 2 2
8 | 163052000M UARLE;M10 4
9 |NNF10 75 oVFAuarFyh M10 8
10 | 163053000M 77k L 1
11 | 163054000M 777 vk R 1
12 | BSZ10025 aBFHERLE 7T M10X25 8
13 | WSALO NAYPHx 337 M1O0 8
14 |NSZ10 afXZFvyhk 8 2¥=2 M10 8
15 | 163064000M 7L —h 2
16 | BSZ08016 af RV E 7 M8X16 10
17 | NNFO8 77 FAnrFy b M8 10
18 | WRAOS v 7 HEx M8 10
19 | 1607650000 FYL s T ER 1
20 | 1607660000 TV T a Ll 1

-24 -




TMS11020W-13020W <=2 F7ARAJTLv4
a1

AHER| W oM’ B B mi 4 i) A% T
1 1631510000 22 AR—ACP ;1000 2
2 1631520000 2R —ACP ;1200 1
3 EWK869935 LFY¥s5 1,8 4
4 1013-02 R—A=v )L PF1,/8XPT1,/8 3
5 1336940000 SFYX7 :4X1,/4—28UNF 2
6 ONAS1 J)—2A=v7) A PT1,/8 2
7 LN108 R—AYVZ.7 LN1—8 1
8 BZ06035 AL 8. 8 M6X35 1
9 NNF06 7oA ey M M6 1
10 1634020000 Fa7akk—ACP ;700 1

-25-




TMS11020W-13020W <=2 F7ARAJTLv4
a2

e I R s B mi 4 i) A% T
1 | 163098000M |/X—CP 4
2 | BSZ08025 afHERLVE 7T M8X25 4
3 1059483000M 717 XBV ;M8 X 2 5 4
4 | NSP08 AFEATY T Fy N 4 M8 8
5 | 1631490000 Fa2aRk—ACP ;430 2
6 | 1631510000 Fayak—ACP ;1000 2
7 | EWK869932 SFY*7;1,/8 2
8 | EWK869935 LEYX7 1,8 4
9 |1013-02 A—A=v 7L PF1,/8XPT1,/8 4
10 | 1631530000 SFY¥5;R1,/8—M6X1 2
11 | WRAO6 7R M6 2
12 | ONBS1 J)—A=v7) B PT1,/8 2
13 | 1631050004 T oR— 1
14 | BSZ08020 afARLE 7T M8X20 3
15 | NSP0O8 aABEATYV Ty N 4 M8 3
16 | ILT200 Arany B A 4. TX202 6
17 | EWK866109 Fa—TrT707 (8X1) 4
18 | 163304000M REUHRLE 10. 9 M5X16 4
19 | WSo05 NRxYPHx 297 M5 4
20 | NAO5 Fvh 4 232 M5 4
21 | 1634960000 AR—AHNR—; 6HB (C) 2

-26 -




TMS11020W-13020W <=2 F7ARAJTLv4

APG13000

INT—F—h

W)=l — R TFRYFAVNA T aY)

3
065-0046-1009 7
A& 5 s & 5 B mi 4 i) A% T

1 | 1482600003 777 v hCP ; L 1
2 | 1482640003 77%7 v hCP ;R 1
3 | BZ12025 ALEF 8. 8 M12X25 4
4 | WSA12 NEPFHFX 337 M1 2 4
5 |NzZ12 Fvk 8 2v=2 M12 4
6 | 145889000M 77— hCP 1
7 | 145897000M 7—ALCP ;L 1
8 | 145902000M 7—ALCP ;R 1
9 | BZ12085 ALk 8.8 M12X85 4
10 | WSA12 NAXYPHF 337 M1 2 4
11 |NZ12 Fvh 8 2v=2 M12 4
12 | 133806000M v 4
13 | 000083100M L B20X70 2
14 | PC040040 JUEL 4X40 10
15 | 133731000M 7L —h 2
16 | 1591360000 T R— 2
17 | BSZ08025 af RV E 7T M8X25 12
18 [ NSPO8 AFEATY T Ty N 4 MS 12
19 | 1459030000 TALTFL— b 1
20 | 145911000M 7L —Fk 1
21 | BSZ08030 afHZRLE 7T MS8X30 6
22 | NSPOS AFEATY T Fy N 4 MS 6
23 | 159137000M 7L —k 2
27 | 153111000M ARw/RCP ;13000 2

-27 -




TMS11020W-13020W <=2 F7ARAJTLv4

APG13000 /NT—H—KrTFEBYFAV N AT aY)
IND—H— |

AHES| B oM F B B H 4 i) [EES fii
28 [NZ16 Fvh 8 2¥2 M16 4
29 | 145908000M 777y hCP ;8000 2 | TMS11020W
30 | BZ16040 ALk 8.8 M16X40 4
31 | WSA16 NEYPHR 337 M16 4
32 | NZ16 JFvh 8 2¥2 M16 4
33 | 145896100M FL—h 2
34 | 1337351106 YU H  CWP40X320X570 2
35 | 1033-04-06 AR—Ax )R PF1,/4XPT3,/8 4
36 | 1274510000 aAFYER—2A:;1,/4Xx3150 1—4 2
37 | 1274530000 aAFVER—2A:1,/4X5600 4—4 2
38 | 1274540000 aAFVHR—A:1,/4X6200 4—4 2
39 [2091-04 74— PT1,/4 2
40 | 9015-04 R—=AB I ~F=v TNV PF1/4XPT1,/4 | 2
41 | 2081-08-04 Ty PT1,/2XPT1,/4 2
42 | CLF40M H7TT7 AA PT1,/2 2
43 10007781000 N7T7xxv7 5 1,/2 2
44 | 1013-04 AR—A=v 7NV PF1,/4XPT1,/4 4
45 | 0749681000 ANRAL FGNFa2a—7 1500 7
46 | ILT380 Afvany XA 7. 5X382 5
47 | 146564000M F ¥ I 4
48 | ILT200 Arany 7B A 4. TX202 8
49 | 0008610000 UBZx—LTF L —h 1
50 | 1062450000 TV rA a7 23 2
61 |NT1219040 ZHFwh M12X19X40 4
62 | BZ12020 ALk 8.8 M12X20 4
63 | WSAL2 NEXPFHX 337 M1 2 4
64 | 1540520000 L¥27—hULAL; 1800 1
65 |NUZ12 Urvyh 8 M12 12
66 |2038-04 =v7F N 1,/4 1
67 | 0009830000 ANy TN T 1,4 1

-28 -




TMS11020W-13020W <=2 F7ARAJTLv4

INT—3q(4 2k

rS2%PTO4|

ES T
A& 5 s & 5 B i 4 i A% fii =
ASY | 1525730000 |[/SU—V 5o 2 k 1

1 |1461820-1 vaAfrh AF I 1

2 | JMD080-2ASY |[YaA vk TUEZI MD—80 1

3 | JPY6226-3 vrvy¥xa—z (MD) 1

4 | JMD-ASY A4 (MD) (Z7X) AS200 2

5 | JFY6228-3 T4 T4 ra—r A2 F (MD) 1

6 | JMD080-1 NAT (f>F) MD—80 (650) 1

7 | JPC14ASY 707y 73 (14) 2

8 | JMD080-3 TR N~ A MD—80 1

9 | PS100065W ATV F7I Ty 10X65 1

10 | JYPMDOSO NAFYxFI—2 MD—80 1

11 | JMD080~4 TN~ TuX MD—80 1

12 | 1461820-12 T —ARN hI—2 1

13 | 1462440000 Ty —AR/Lk; M8X45 1| (10.9 P10+ NNFOSFF)
14 | PS060065W ATV Ty XTIy 6X65 1

-29-













nj
TH]

g

S—241017D

F & A # 0668555 F m 1 L K # 1 0 6 1 F ih 2
TEL 0123-26-1123
FAX 0123-26-2412

F M E XM 066855 FmmLEEREH:H; 1 06 1 F M 2
TEL 0123-22-5131
FAX 0123-26-2035

098-4100 XIEMEEMFLEHORY1191EFM44
TEL 0162-82-1932
FAX 0162-82-1696

BOIL B EPT 0802462 W LA 2 2% 1 THEH1 2% 4
TEL 0155-37-3080
FAX 0155-37-5187

PIREEXR 086-1152 FEZMHZFRHILET 2 TH 16 &F 2
TEL 0153-72-2624
FAX 0153-73-2540

FRIEETAEAMTILEMRE 1 111E]120F3
TEL 0198-46-1311
FAX 0198-45-5999

BB EHERKEHFSETH2 1 — 1
TEL 022-353-6039
FAX 022-353-6040

vl B ¥ P 3230158 HF K B /bt R 2 5 1 2 — 1
TEL 0285-49-1500
FAX 0285-49-1560

WA R EPT 4850081 BHRB /N THEANFTIHG 78 — 1
TEL 0568-75-3561
FAX 0568-75-3563

B = Z¥EpPr 7000973 MLEBMLUMAEAXRTFEHF 704 —103
TEL 086-243-1147
FAX 086-243-1269

He A B % fr 8618030 REAEBEAMER/MILAT1 6 3 9 — 1
TEL 096-389-6650
FAX 096-389-6710

OB EFT 8851202 EMEMB T ESWHETEELY 1003 —2
TEL 0986-53-2222
FAX 0986-53-2233

Hlge
Ho}
1113
e
3

1t & 8 ¥ PFr 028-3172

DiE

it
m

W& & % PFr 984-0032





